

Application of the Differential Transform Method for the Nonlinear Differential Equations

Mohand M. Abdelrahim Mahgoub^{1,3}, Abdelbagy A. Alshikh^{2,3}

¹Department of Mathematics, Faculty of Science & Technology, Omdurman Islamic University, Khartoum, Sudan

²Mathematics Department Faculty of Education-Alzaeim Alazhari University, Khartoum, Sudan

³Mathematics Department Faculty of Sciences and Arts-Almikhwah-Albaha University, Albaha, Saudi Arabia

Email address:

mahgob10@hotmail.com (M. M. A. Mahgoub), abd.elbagy@hotmail.com (A. A. Alshikh)

To cite this article:

Mohand M. Abdelrahim Mahgoub, Abdelbagy A. Alshikh. Application of the Differential Transform Method for the Nonlinear Differential Equations. *American Journal of Applied Mathematics*. Vol. 5, No. 1, 2017, pp. 14-18. doi: 10.11648/j.ajam.20170501.12

Received: October 15, 2016; **Accepted:** October 28, 2016; **Published:** January 18, 2017

Abstract: This paper aims to find analytical solutions of some analytical solutions of some non-linear differential equations using a new integral transform "Aboodh transform" with the differential transform method. The nonlinear terms can be easily handled by the use of differential transform method. This method is more efficient and easy to handle such differential equations in comparison to other methods. The results reveal that this method is very efficient, simple and can be applied to other nonlinear problems

Keywords: Aboodh Transform, Differential Transform Method, Nonlinear Differential Equations

1. Introduction

Many physical problems can be described by mathematical models that involve ordinary or partial differential equations. A mathematical model is a simplified description of physical reality expressed in mathematical terms. Thus, the investigation of the exact or approximation solution helps us to understand the means of these mathematical models. Several numerical methods were developed for solving ordinary or partial differential equations. In recent years, some researchers used many powerful methods for obtaining exact solutions of nonlinear partial differential equations, such as homotopy perturbation method [1-2], modified variational iteration method [3], non-perturbative methods [4], Adomian Decomposition Method (ADM) [5-6], and reduced differential transform method [7]. the differential transform method has been developed for solving the differential and integral equations. For example in [8] this method is used for solving a system of differential equations and in [9] for differential-algebraic equations. In [10-13] this method is applied to partial differential equations and in [14-16] to one- dimensional Volterra integral and integro-differential equations.

New integral transform "Aboodh transform" [17-23] is

particularly useful for finding solutions for these problems. Aboodh transform is a useful technique for solving linear Differential equations but this transform is totally incapable of handling nonlinear equations because of the difficulties that are caused by the nonlinear terms. This paper is using differential transforms method to decompose the nonlinear term, so that the solution can be obtained by iteration procedure. This means that we can use both Aboodh transform and differential transform methods to solve many nonlinear problems.

2. Aboodh Transform

Definition:

A new transform called the Aboodh transform defined for function of exponential order we consider functions in the set A , defined by:

$$A = \{f(t); \exists M, k_1, k_2 > 0, |f(t)| < Me^{-k_1 t}\} \quad (1)$$

For a given function in the set M must be finite number, k_1, k_2 may be finite or infinite. Aboodh transform which is defined by the integral equation

$$A[f(t)] = K(v) = \frac{1}{v} \int_0^\infty f(t) e^{-vt} dt, t \geq 0, k_1 \leq v \leq k_2 \quad (2)$$

Theorem (1)

Let $K(v)$ be Aboodh transform of $f(t)$, $A[f(t)] = K(v)$ then:

$$\begin{aligned} \text{(i)} \quad A[f'(t)] &= vK(v) - \frac{f(0)}{v}, \\ \text{(ii)} \quad A[f''(t)] &= v^2 K(v) - \frac{f'(0)}{v} - f(0) \\ \text{(iii)} \quad A[f^{(n)}(t)] &= v^n K(v) - \sum_{k=0}^{n-1} \frac{f^{(k)}(0)}{v^{2-n+k}}. \end{aligned} \quad (3)$$

Proof

By the definition we have:

$$A[f(t)] = K(v) = \frac{1}{v} \int_0^\infty f(t) e^{-vt} dt,$$

Integrating by parts, we get

$$\begin{aligned} A\left[\frac{\partial f}{\partial t}(x, t)\right] &= \int_0^\infty \frac{1}{v} \frac{\partial f}{\partial t} e^{-vt} dt = \\ \lim_{p \rightarrow \infty} \int_0^p \frac{1}{v} \frac{\partial f}{\partial t} e^{-vt} dt \\ &= \lim_{p \rightarrow \infty} \left\{ \left[\frac{1}{v} e^{-vt} \right]_0^p + \int_0^p e^{-vt} f(x, t) dt \right\} \\ &= vK(x, v) - \frac{f(x, 0)}{v} \end{aligned}$$

3. Differential Transform

Differential transform of the function $Y(x)$ for the k -derivative is defined as follows:

$$Y(k) = \frac{1}{k!} \left[\frac{d^k y(x)}{dx^k} \right]_{x=x_0} \quad (4)$$

Where $Y(x)$ is original function and $y(k)$ is the transformed function.

And the inverse differential transform of $Y(k)$ is defined as:

$$Y(x) = \sum_{k=0}^{\infty} y(k) x^k$$

The main theorems of the one – dimensional differential transform are.

Theorem (2): If $w(k) = y(x) \pm z(x)$, then $W(k) = Y(k) \pm Z(k)$

Theorem (3): If $w(x) = cy(x)$, Then $W(k) = cY(k)$

Theorem (4): If $w(x) = \frac{dy(x)}{dx}$ then $W(k) = (k+1)y(k+1)$

Theorem (5): If $w(x) = \frac{d^n y(x)}{dx^n}$ then $W(k) = \frac{(k+n)!}{k!} y(k+n)$

Theorem (6): If $w(x) = y(x)z(x)$, then $W(k) = \sum_{r=0}^k y(r)Z(k-r)$

Theorem (7): If $w(x) = x^n$ then $W(k) = \delta(k-n) =$

$$\begin{cases} 1, k = n \\ 0, k \neq n \end{cases}$$

Note that c is a constant and n is a nonnegative integer.

4. Analysis of Differential Transform

In this section, we will introduce a reliable and efficient algorithm to calculate the differential transform of nonlinear functions.

I / Exponential nonlinearity: $f(y) = e^{ay}$

From the definition of transform

$$F(0) = [e^{ay(x)}]_{x=0} = e^{ay(0)} = e^{aY(0)} \quad (5)$$

Taking a differential of $f(y) = e^{ay}$ with respect to x , we get:

$$\frac{df(y)}{dx} = ae^{ay} \frac{dy(x)}{dx} = af(y) \frac{dy(x)}{dx} \quad (6)$$

Application of the differential transform to Eq (6) gives:

$$(k+1)y(k+1) = a \sum_{m=0}^k (m+1)Y(m+1)F(k-m) \quad (7)$$

Replacing $k+1$ by k gives

$$F(k) = a \sum_{m=0}^{k-1} \left(\frac{m+1}{k} \right) Y(m+1)F(k-1-m) \quad k \geq 1 \quad (8)$$

Then from Eqs (5) and (8), we obtain the recursive relation

$$F(k) = \begin{cases} e^{aY(0)}, k = 0 \\ a \sum_{m=0}^{k-1} \left(\frac{m+1}{k} \right) Y(m+1)F(k-1-m), k \geq 1 \end{cases} \quad (9)$$

II / Logarithmic nonlinearity: $f(y) = \ln(a+by)$, $a+by > 0$.

Differentiating $f(y) = \ln(a+by)$, with respect to x , we get:

$$\frac{df(y(x))}{dx} = \frac{b}{a+by} \frac{dy(x)}{dx}, \text{ or } a \frac{df(y)}{dx} = b \left[\frac{dy(x)}{dx} - y \frac{df(y)}{dx} \right] \quad (10)$$

By the definition of transform:

$$F(0) = [\ln(a+by(x))]_{x=0} = \ln(a+by(0)) = \ln(a+bY(0)) \quad (11)$$

Take the differential transform of Eq.(10) to get:

$$aF(k+1) = b \left[Y(k+1) - \sum_{m=0}^k \frac{m+1}{k+1} F(m+1)Y(k-m) \right] \quad (12)$$

Replacing $k+1$ by k yields:

$$aF(k) = b \left[Y(k) - \sum_{m=0}^{k-1} \frac{m+1}{k} F(m+1)Y(k-1-m) \right], \quad k \geq 1 \quad (13)$$

Put $k=1$ into Eq.(13) to get:

$$F(1) = \frac{b}{a+bY(0)} Y(1) \quad (14)$$

For $k \geq 2$, Eq. (13) can be rewritten as

$$F(k) = \frac{b}{a+bY(0)} \left[Y(k) - \sum_{m=0}^{k-2} \frac{m+1}{k} F(m+1)Y(k-1-m) \right] \quad (15)$$

Thus the recursive relation is:

$$F(k) = \begin{cases} \ln(a + by(0)), k = 0 \\ \frac{b}{a + bY(0)} Y(1), k = 1 \\ \frac{b}{a + bY(0)} \left[Y(k) - \sum_{m=0}^{k-2} \frac{m+1}{k} F(m+1)Y(k-1-m) \right], k \geq 2 \end{cases}$$

5. Application

In this section we solve some nonlinear differential equation by combine Aboodh transform and differential transform method

Example (1)

Consider the simple nonlinear first order differential equation.

$$y' = y^2 \quad y(0) = 1 \quad (16)$$

First applying Aboodh transform on both sides to find:

$$\begin{aligned} vk(v) - \frac{f(0)}{v} &= T(y^2) \\ k(v) &= \frac{1}{v^2} + \frac{1}{v} T(y^2) \end{aligned} \quad (17)$$

$k(v)$ is the Aboodh transform of $y(t)$,

The standard Aboodh transformation method defines the solution $y(t)$ by the series.

$$y = \sum_{n=0}^{\infty} y(n) \quad (18)$$

Operating with Aboodh inverse on both sides of Eq (17) gives:

$$y(t) = 1 + A^{-1} \left[\frac{1}{v} A(y^2) \right] \quad (19)$$

Substituting Eq (18) into Eq (19) we find:

$$y(n+1) = A^{-1} \left[\frac{1}{v} A(A_n) \right] \quad n \geq 0 \quad (20)$$

Where $y(0) = 1$, $A_n = \sum_{m=0}^k Y(r)F(n-r)$, and $A_0 = 1$
For $n = 0$, we have:

$$y(1) = A^{-1} \left[\frac{1}{v} A(A_0) \right] = A^{-1} \left[\frac{1}{v} A(A_0) \right] = t$$

For $n=1$, we have:

$$A_0 = 2t \text{ and } y(2) = A^{-1} \left[\frac{1}{v} T(A_1) \right] = A^{-1} \left[\frac{1}{v} A(2t) \right] = t^2$$

For $n = 2$, we have:

$$A_0 = 3t^2 \text{ and } y(3) = A^{-1} \left[\frac{1}{v} A(A_2) \right] = A^{-1} \left[\frac{1}{v} A(3t^2) \right] = t^3$$

The solution in a series form is given by.

$$y(t) = y(0) + y(1) + y(2) + y(3) + \dots$$

$$y(t) = 1 + t + t^2 + t^3 + \dots = \frac{1}{1-t}$$

Example (2)

We consider the following nonlinear differential equation.

$$\frac{dy}{dt} = y - y^2 \quad y(0) = 2 \quad (21)$$

In a similar way we have:

$$\begin{aligned} vk(v) - \frac{f(0)}{v} &= A(y - y^2) \\ k(v) &= \frac{2}{v^2} + \frac{1}{v} A(y - y^2) \end{aligned} \quad (22)$$

The inverse of Aboodh transform implies that:

$$y(t) = 2 + A^{-1} \left[\frac{1}{v} A(y - y^2) \right] \quad (23)$$

The recursive relation is given by:

$$y(n+1) = A^{-1} \left[\frac{1}{v} A(y(n) - A_n) \right] \quad n \geq 0 \quad (24)$$

Where $y(0) = 2$, and $A_n = \sum_{m=0}^n Y(r)y(n-r)$

The first few components of A_n are

$$A_0 = y^2(0), A_1 = 2y(0)y(1), A_2 = 2y(0)y(2) + y^2(1),$$

$$A_3 = 2y(0)y(3) + 2y(1)y(2), \dots$$

From the recursive relation we have:

$$y(0) = 2, A_0 = 4$$

$$y(1) = A^{-1} \left[\frac{1}{v} A(y(0) - A_0) \right] = A^{-1} \left[\frac{1}{v} A(-2) \right] = -2t$$

$$y(2) = A^{-1} \left[\frac{1}{v} A(y(1) - A_1) \right] = A^{-1} \left[\frac{1}{v} A(6t) \right] = 3t^2$$

$$y(3) = A^{-1} \left[\frac{1}{v} A(y(2) - A_2) \right] = A^{-1} \left[\frac{1}{v} A(-13t^2) \right] = -\frac{13}{3}t^3$$

Then we have the following approximate solution to the initial problem.

$$y(t) = y(0) + y(1) + y(2) + y(3) + \dots$$

$$y(t) = 2 - 2t + 3t^2 - \frac{13}{3}t^3 + \frac{25}{4}t^4 + \dots = \frac{2}{2-e^{-t}}$$

Example (3)

Consider the nonlinear initial – value Problem

$$y''(x) = 2y + 4y \ln y \quad y > 0 \quad y(0) = 1, y'(0) = 0 \quad (25)$$

Applying Aboodh transform to Eq (25) and using the initial conditions, we obtain.

$$v^2 k(v) - \frac{f'(0)}{v} - f(0) = A(2y + 4y \ln y)$$

$$k(v) = \frac{1}{v^2} + \frac{1}{v^2} A(2y + 4y \ln y) \quad (26)$$

Take the inverse of Eq (26) to find:

$$y(t) = 1 + A^{-1} \left[\frac{1}{v^2} A(2y + 4y \ln y) \right] \quad (27)$$

The recursive relation is given by:

$$y(n+1) = A^{-1} \left[\frac{1}{v^2} A(2y + 4y \ln y) \right] \quad (28)$$

Where $A_n = \sum_{m=0}^n Y(m)F(n-m)$ and $y(0) = 1$ (29)
And

$$F(n) = \begin{cases} \ln(y(0)), n = 0 \\ \frac{y(1)}{y(0)}, n = 1 \\ \frac{y(n)}{y(0)} + \sum_{m=0}^{n-2} \frac{m+1}{n} F(m+1)y(n-1-m), n \geq 2 \end{cases} \quad (30)$$

Then we have:

$$F(0) = 0, A_0 = 0, \text{ and } y(1) = A^{-1} \left[\frac{1}{v^2} A(2) \right] = A^{-1} \left[\frac{2}{v^4} \right] = x^2$$

$$F(1) = x^2, A_1 = x^2, \text{ and } y(2) = A^{-1} \left[\frac{1}{v^2} A(6x^2) \right] = A^{-1} \left[\frac{12}{v^6} \right] = \frac{x^4}{2}$$

$$F(2) = 0, A_2 = x^4, \text{ and } y(3) = A^{-1} \left[\frac{1}{v^2} A(5x^4) \right] = A^{-1} \left[\frac{120}{v^8} \right] = \frac{x^6}{6}$$

Then the exact solution is:

$$y(x) = y(0) + y(1) + y(2) + y(3) + \dots$$

$$y(x) = 1 + x^2 + \frac{x^4}{2} + \frac{x^6}{6} + \dots = \sum_{k=0}^{\infty} \frac{1}{k!} (x^2)^k = e^{x^2}$$

Example (4)

Consider the initial value problem of Bratu-type.

$$y''(x) - 2e^y = 0 \quad 1 < x < 0 \quad y(0) = y'(0) = 0, \quad (31)$$

Take Aboodh transform of this equation and use the initial condition to obtain:

$$v^2 k(v) - \frac{f'(0)}{v} - f(0) = A(2e^y) \\ k(v) = \frac{1}{v^2} A(2e^y) \quad (32)$$

Take the inverse to obtain:

$$y(t) = A^{-1} \left[\frac{1}{v^2} A(2e^y) \right]$$

Then the recursive relation is given by:

$$y(n+1) = A^{-1} \left[\frac{1}{v^2} A(2F(n)) \right] y(0) = 0 \quad (33)$$

Where $y(0) = 0$ and

$$F(n) = \begin{cases} y(0), n = 0 \\ \sum_{m=0}^{n-1} \frac{m+1}{n} Y(m+1)F(n-m-1), n \geq 1 \end{cases} \quad (34)$$

Then from Eqs (33) and (34) we have

$$F(0) = 1 \text{ and } y(1) = A^{-1} \left[\frac{1}{v^2} A(2) \right] = A^{-1} \left[\frac{2}{v^4} \right] = x^2$$

$$F(1) = x^2, A_1 = x^2, \text{ and } y(2) = A^{-1} \left[\frac{1}{v^2} A(2x^2) \right] = A^{-1} \left[\frac{4}{v^6} \right] = \frac{x^4}{6}$$

$$F(2) = \frac{2}{3}x^4, A_2 = x^4, \text{ and } y(3) = A^{-1} \left[\frac{1}{v^2} A(\frac{4}{3}x^4) \right] = A^{-1} \left[\frac{32}{v^8} \right] = \frac{2}{45}x^6$$

Then the series solution is

$$y(x) = y(0) + y(1) + y(2) + y(3) + \dots$$

$$y(x) = 1 + x^2 + \frac{x^4}{6} + \frac{2}{45}x^6 + \dots = -2 \ln(\cos x)$$

6. Conclusions

In this paper, the exact solutions of nonlinear differential equations are obtained by using Aboodh transform and differential transform methods. This method is more efficient and easy to handle such differential equations in comparison to other methods. the results reveal that this method is very efficient, simple and can be applied to other nonlinear problems.

Appendix

Table A1. Aboodh transform of some functions.

$f(t)$	$A[f(t)] = k(v)$
1	$\frac{1}{v^2}$
t	$\frac{1}{v^3}$
e^{at}	$\frac{1}{v^2 - av}$
t^n	$\frac{n!}{v^{n+2}}$
$\sin(at)$	$\frac{a}{v(v^2 + a^2)}$
$\cos(at)$	$\frac{1}{(v^2 + a^2)}$
$\sinh at$	$\frac{a}{v(v^2 - a^2)}$
$t \cosh at$	$\frac{1}{(v^2 - a^2)}$

References

- [1] J. H. He, New interpretation of homotopy perturbation method, International Journal of Modern Physics B, vol.20, 2006b, pp. 2561-2668
- [2] J.-H. He, "Homotopy perturbation technique," Computer Methods in Applied Mechanics and Engineering, vol. 178, no. 3-4, (1999), pp. 257-262.
- [3] Abeer Majeed Jassim, A Modified Variational Iteration Method for Schrödinger and Laplace Problems Int. J. Contemp. Math. Sciences, Vol. 7, 2012, no. 13, 615-624.

- [4] He., J. H., Non-perturbative methods for strongly nonlinear problem Dissertation, De-Verlag im Internet GmbH, Berlin, 2006.
- [5] G. Adomian, Solving frontier problems of physics: The decomposition method, Kluwer Academic Publishers, Boston and London, 1994.
- [6] J. S. Duan, R. Rach, D. Buleanu, and A. M. Wazwaz, "A review of the Adomian decomposition method and its applications to fractional differential equations," *Communications in Fractional Calculus*, vol. 3, no. 2, (2012). pp. 73-99.
- [7] Bhaben Ch. Neog, Solutions of some system of non-linear PDEs using Reduced Differential Transform Method, *IOSR Journal of Mathematics (IOSR-JM)*, Volume 11, Issue 5 Ver. I (Sep. - Oct. 2015), PP 37-44.
- [8] F. Ayaz, Solutions of the system of differential equations by differential transform method, *Appl. Math. Comput.* 147 (2004) 547-567.
- [9] F. Ayaz, Application of differential transform method to differential-algebraic equations, *Appl. Math. Comput.* 152 (2004) 649-657.
- [10] C. K. Chen, Solving partial differential equations by two dimensional differential transform, *Appl. Math. Comput.* 106 (1999) 171-179.
- [11] H. Guoqiang, W. Jiong, Extrapolation of nystrom solution for two dimensional nonlinear Fredholm integral equations, *J. Comput. Appl. Math.* 134 (2001) 259-268.
- [12] H. Guoqiang, W. Ruifang, Richardson extrapolation of iterated discrete Galerkin solution for two dimensional nonlinear Fredholm integral equations, *J. Comput. Appl. Math.* 139 (2002) 49-63.
- [13] M. J. Jang, C. K. Chen, Y. C. Liu, Two-dimensional differential transform for partial differential equations, *Appl. Math. Comput.* 121 (2001) 261-270.
- [14] A. Arikoglu, I. Ozkol, Solution of boundary value problem for integro-differential equations by using differential transform method, *Appl. Math. Comput.* 168 (2005) 1145-1158.
- [15] Badriah A. S. Alamri. Nonlinear Differential Equations and Mixture of Tarig Transform and Differential Transform Method, *Journal of Progressive Research in Mathematics* Volume 5, Issue 3.
- [16] Z. M. Odibat, Differential transform method for solving Volterra integral equations with separable kernels, *Math. Comput. Model.* 48 (7-8) (2008) 1144-1149.
- [17] K. S. Aboodh, The New Integral Transform "Aboodh Transform" *Global Journal of pure and Applied Mathematics*, 9 (1), 35-43 (2013).
- [18] K. S. Aboodh, Application of New Transform "Aboodh transform" to Partial Differential Equations, *Global Journal of pure and Applied Math*, 10 (2), 249-254(2014).
- [19] Mohand M. Abdelrahim Mahgob " Homotopy Perturbation Method And Aboodh Transform For Solving Sine-Gorden And Klein – Gorden Equations" *International Journal of Engineering Sciences & Research Technology*, 5 (10): October, 2016.
- [20] Mohand M. Abdelrahim Mahgob and Abdelilah K. Hassan Sedeeg "The Solution of Porous Medium Equation by Aboodh Homotopy Perturbation Method " *American Journal of Applied Mathematics* 2016; 4 (5): 217-221.
- [21] Abdelilah K. Hassan Sedeeg and Mohand M. Abdelrahim Mahgoub, " Aboodh Transform Homotopy Perturbation Method For Solving System Of Nonlinear Partial Differential Equations," *Mathematical Theory and Modeling* Vol. 6, No. 8, 2016.
- [22] Abdelilah K. Hassan Sedeeg and Mohand M. Abdelrahim Mahgoub, "Combine Aboodh Transform And Homotopy Perturbation Method For Solving Linear And Nonlinear Schrodinger Equations," *International Journal of Development Research* Vol. 06, Issue, 08, pp. 9085-9089, August, 2016.
- [23] Abdelbagy A. Alshikh and Mohand M. Abdelrahim Mahgoub, "A Comparative Study Between Laplace Transform and Two New Integrals "ELzaki" Transform and "Aboodh" Transform," *Pure and Applied Mathematics Journal* 2016; 5 (5): 145-150.